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(c) Compute C!C. What kind of matrix is C7 C? 

. Solve the following equations for N assuming any matrix has au in- 
verse. Let A, B.C. X ben x mn matrices and let ube ann < L vector. 

(a) AY = BN -—A 

(b) AX =2N — 4 

(c) Au=2u+B 

Solve the following using Cramer's Rule. 

J xz —ly =0 

| 5a 2y =0 

vy —2xre = (0 

Lj tur3 =0 

V2 +3r3° = 0 

3 Linear Transformations 

For the following transformation. What is A? What is the dimension 
of the domain? What is the dinmension of the codomain? 

wy =%1 4+ 23 | 

Wy = bre — 13 

. For the following transformation (7). what is A? What is the dimen- 
sion of the domain? What is the dinmension of the codomain? Com- 

pute the value of T(es) 

Wy SV), +73 

Ww = 3.u2 = 2S 

. For the following matrix as a linear transformation. T. what is the 

dimeusion of the domain? What is the dinmension of the codomain? 

Compute the value of T(e;) 

2.0 0 0 

A=;0 4 0 2 

0 0 1 3 

2 3 What transformation. T : R- + RB? has the following properties 

T(e,) =



bo
 

Math 3160 - Test 1 Review 

1 Systems of Linear Equations 

. Solve the following svstems of linear equations using row reduction. 

Uy - 2.09 —6.ir'5 = 0 

Vy t+ar3 +67 1 = 9) 

(a) 209 +6.0 4 ls = 4 

V9 —23 “hits, =-] 

22} 242 +4rg = 2 

(b) v3 0 

ry tro 42rg, =0 

20] - 2.09 + Les 2 

(c) ipo wy +34, = 2 

vy —3.ro +73 2 

. Solve the following systems of linear equations by setting up problem 
as a inatrix problem and by finding an inverse matrix. 

20) —2ro +403 = 2 

(a) a) +3.r3 =2 

39 + 7.3 = 2 

2 Matrices, Determinants, Cramer’s Rule 

2 20 0 2-2 0 -2 0 

2 -2 0 » 919 0 -2 0 -2 0 

Let A = —|] 1 1 B= 5 5 0 3 3 = O 0 38 —2 0 

0 | 5 4 5 4 0 0 0 —2 0 

~ ~ 0 0 0 0 4 

2 0 0 

and D = 0 1 0 

0 0 1 

(a) Find the deterininant of the matices A. B. C and D 

(b) Compute D? and D !. 
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